r SEMICONDUCTOR TIP142T

TECHNICAL DATA

TIP142T Darlington TRANSISTOR  (NPN)

Features
Monolithic construction with builtin base-emitter shunt resistors

High DC current gain complement to TIP147T.
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Absolute Maximum Ratings(Ta=25°C)
Parameter Symbol Rating Unit
Collector to Base Voltage Vceo 100 \
Collector to Emitter Voltage Vceo 100 \%
Emitter to Base Voltage VEego 5 \Y
Collector Current - Continuous Ic 10 A
Peak Collector Current Icp 15 A
Base Current - Continuous Ig 0.5 A
Collector Power Dissipation Pc(Tc=257C) 80 w
Junction Temperature T; 150 C
Storage Temperature Range Tsig -55~150 T
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TIP142T

Electrical Characteristics (Ta=25°C)

Parameter Symbol Test Conditions Min Typ | Max | Unit

C\:/(z::f:;éc;r to Emitter Breakdown Veeo 1c=30mA 15=0 100 Vv
Collector Cut-Off Current lceo Vce=50V Ig=0 2 mA
Collector Cut-Off Current lceo Vce=100V =0 1 mA
Emitter Cut-Off Current leeo Veg=5V =0 2 mA
DC Current Gaing, heeq) Vce=4V Ic=5A 1000

DC Current Gaing) hee) | Vee=4V Ic=10A 500

\(;gllggg';(?lr)to Emitter Saturation Veesa | 1c=5A l;=10mA 5 Vv
\(iglltlzgéc:zr)to Emitter Saturation Veeeane | Ic=10A ls=40mA 3 Vv
Base to Emitter Saturation Voltage| Vegiay | Ic=10A [5=40mA 3.5 \Y
Base to Emitter Voltage Ve Vce=4V Ic=10A 3 \Y
Delay Time to 0.15 MS
Rise Time tr Vee=30V Ic=5A 0.55 us

lg1=20mA Igo=20mA

Storage Time tste R =6Q 2.5 VS
Fall Time te 2.5 MS
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TIP142T

Typical Characteristics
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